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In 2008, the Minnesota Department of Corrections and five Minnesota counties – Hennepin, Ramsey, 

Dodge, Fillmore, and Olmsted – implemented the Minnesota Comprehensive Offender Reentry Plan 

(MCORP) pilot project (see the attached “Backgrounder” document for more detailed information on 

MCORP). Offenders who met certain criteria were assigned randomly to either the programming group 

(the group receiving the services of MCORP) or the control group (the group receiving regular services in 

both the institution and the community). Offenders from both groups were released from prison to one of 

the five pilot counties between February and December 2008. They were then followed for another 16 

months post-release. The overarching goal of MCORP is to successfully prepare offenders for re-entry into 

the community after completion of their sentence, and the researchers decided that one way to measure 

success was to record whether or not the offenders were able to find employment upon their release from 

prison.  The data on this variable are shown in the following table: 

 

 Find Employment?  

Group Yes No Total 

MCORP  94 76 170 

Control  31 48 79 

Total 125 124 249 

 

Research Question:  Does the likelihood of finding employment appear to differ between those 

offenders who go through the MCORP program and those that receive only the regular services to help 

them re-enter society? 

 

1. Find the proportion of offenders in this study that found employment in the MCORP group. 

 

 

 

2. Find the proportion of offenders in this study that found employment in the Control group.  

 

 

 

3. Carry out a hypothesis test to investigate the research question.  Use JMP to find the p-value for 

both the chi-square test and Fisher’s exact test. 

 

Ho: 

 

Ha: 

 

p-value from chi-square test: 

 

p-value from Fisher’s exact test: 

 

Conclusion: 
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4. Suppose your research question was worded as follows instead:  Does the MCORP program appear 

to increase the likelihood of finding employment? 

 

Carry out a hypothesis test to investigate the research question.  Use JMP to find the p-value. 

 

Ho: 

 

 

Ha: 

 

 

p-value: 

 

Conclusion: 

 

 

 

 

 

 

 

 

5. Can we conclude that it is in fact the MCORP program that is responsible for the increased 

likelihood of offenders finding employment?  Explain your reasoning. 

 

 

 

 

 

 

 

 

6. In problem 3, you used JMP to calculate the chi-square test statistic (and its associated p-value). 

Show how this value was calculated. 
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